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FORMULAE FOR SOLVING OBLIQUE TRIANGLES
Solution

Cosec A =.!- = Sec B
a

Sec A = .!- = Cosec B
b

b
Cot A = -= Tan B

a

. B b sin A a sin C
sin = -a-,e= sinA

b = a sin B
sin A

A + B = 1800 _ C e = a ~in C
, sin A

• Q + b + e ,...~-~~--=-~~---:'
side 2 ,area=Vs(s-o) (s-b) (s-e)

be sin A
area = 2

o'l sin B sin C
area = 2sinA

Sin A =~= Cos B
e

Cos A = ~ = Sin B
e

Tan A =.!!:..= Cot B
b

B

A~;
b

Given Required Solution

A,e B,a,b B = 90 0
- A, a = e sin A, b = c cos A.

A,b B,a,e bB = 90 0
- A a = b tan A c = --, , cos A.

A,a B, b,e B = 90 0
- A, b = a cot A, e = ~

slnA.

a,e A,B,b sinA=~ =cosB,b= V(e+a) (e-o)

Q, b A,B,e tan A = ~ = cot B , e = Va2 + b'

,
t

.. ~:uJMULAE pok ~:d~:;:!."' •• ". . .:: .. :/~;r TRIANGLES

Given Required

A,a,b B,e

A,B,a b

a.b, C A,e

a, b, e Area

A,b,e Area

A.B,C,Q Area
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3/4 7/8
.0625 .0729

10 11
.8333 .9167

&1' .8500
II .8667
&3 .8833
6' .9000
1& .9167
6& .9333
1'1 .9500
&8 .9667
69 .9833
60 1.0000

~1' .8833
d .7000
413 .7167
f.~ .7333
411 .7500
41& .7667
41'1 .7833
~I .8000• .8167
10 .8333

.6167

.6333

.6500

.6667

.6833

.8000

.6167

.6333

.1600

.He7

1JetcmaalS of a oot

Decimals of a Degree

CURVE FORMULAE
D=Degree of Curve
1o=l-Dtgree of Curve
2°=2-Degree of Curve
P.C.= Point of Curve
P.T.=Point of Tangent
P.I.=Point of Intersection
I= Intersection of Angle, Angle

Bet een Two Tangents
L=Length of Curve,

from P.C. to P.T. P. C........-..-.-..-+--=-+--------~-.

T=Tangent Distance
E=External Dist~nce

R=Radius
L.C.=Length of Chord

=Length of Middle Ordinate
c=Length of Sub-Chord
d= ngle of Sub-Chord

R
L.C. T R I L.C.

=~' = tan 1/2 =~

L.C. = R sin..!.- D 10 = R = 5730 D 2° = 5730 D = 5730
2 2 ' '2' R

I
(I-co 1/21),=R-Rcos 2

+ I R-M I
--= ec -' --=cos

2 R 2

-2 in1/2d,d= 2~

.. = 2 in l /21, E = R (5«1/21 -I), = R sec ~ - R
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